
	4a+7=23 


	If d=7, what is 15–2d ?
	If e=2, what is 8e+1 ?
	If y=2, what is 10y+7 ?
	5r-5=20
	11²
	If b=8, what is b²?
	6b – 2 = 34

	.
	,
	I
	V
	R
	U
	E
	R

	28
	8
	7
	5y
	3
	51
	27
	9

	
	
	
	
	
	
	
	

	Half of 10y
	Half of 6y


	If m=4, what is m-5 ?
	Double 6w
	13²
	If x=2, what is 5x - 2
	6t – 5 = 61
	If h=6, what is 10h-1 ?

	L
	F
	T
	E
	N
	T
	E
	A

	14
	4
	64
	6
	13
	12
	10
	121

	
	
	
	
	
	
	
	

	2 x 4a
	If a=9, what is 9a-1 ?
	If a = 3, what is 4a ?
	If t=3, what is 10t-2 ?
	If c=7, what is c²+ 2 ? 
	2b+5=11
	If d=1, what is 6d+7 ?
	If g=5, what is 4g-6 ?

	A
	E
	I
	S
	Q
	O
	O
	O

	5
	12
	60
	169
	57
	3y
	17
	20

	
	
	
	
	
	
	
	

	If n=11, what is 5n+2 ?
	If e=9, what is 2e+2 ?
	12p = 144
	(81


	If p=100, what is (p ?
	(49
	p-10 = 50
	

	E
	S
	S
	C
	H
	T
	D
	

	80
	1
	11
	8a
	-1
	59
	12w
	


	9d – 4 = 77

8x – 7 = 33


	4y – 14 = 26

3p – 7 = 14


	d² – 4 = 77

x² + 7 = 107





	-3 x 9 


	-2 x 4
	-1000  10
	-18  6
	12 x 12
	120  (-10)

	&
	L
	E
	E
	U
	V

	40
	144
	-12
	5
	24
	100

	
	
	
	
	
	

	80  (-100)
	(-20)  (-4)


	8 x 3
	72  (-8)
	100  (-10)
	-90  100

	N
	N
	M
	V
	T
	B

	-100
	4
	START
	-12
	36
	0.9

	
	
	
	
	
	

	(-5) x (-6)
	-121  11
	-0.1 x 7
	-3 x 4 x 2
	42  6
	5 x (-3)

	P
	I
	U
	R
	D
	T


	12
	-9
	-0.8
	6
	-27
	-8

	
	
	
	
	
	

	(-9) x (-0.1)
	(-9) x (-4)
	(-3) x 2 x (–1)
	-3 x –4


	54   (-9)
	FINISH

	M
	A
	E
	I
	D
	S

	-0.7
	56
	-0.9
	-15
	-11
	-24

	
	
	
	
	
	

	(-12)  (–3)


	-5 x –8


	-60  5


	-8 x –7


	(-400)  (-4)


	-10 x 4



	E
	Y
	I
	G
	I
	L

	-6
	-40
	7
	-3
	-10
	30


(-5) x (–2) x 1

(-3) x (–2) x 2

(-2) x 2 x (-4)

4 x 5 x (-2)

10 x (-10) x 10 x (-10)

(-10)  (–2)  1

(-8)  (–2)  2

(-12)  2  (-4)

40  5  (-2)

100  (-10)  10  (-10)

